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Which one of the followin&%@tﬁ!&l&e@ M&ing interest rate risk as it relates to
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bonds, all else equal?

(A) The shorter the time to maturity, the greater the interest rate risk.

(B) The lower the coupon rate, the greater the interest rate risk.

(C) For a bond selling at par value, there is no interest rate risk.

(D) The smaller the number of semiannual interest payments, the greater the interest rate risk.

(E) The lower the amount of each interest payment, the lower the interest rate risk.

The Zilo Corp. has 1,000 shareholders and is preparing to elect three new board members. You
do not own enough shares to control the elections but are determined to oust the current
leadership. The most likely result of this situation is a:

(A) negotiated settlement where you are granted control over one of the three open positions.
(B) legal battle for control bf MdLi{(6HS PEyRuEd X ontent as an individual shareholder.
(C) arbitrated settlement whéalsy ol RieeBiaityEo ol over one of the three open positions.
(D) total loss of power for you since you are a minority shareholder.

(E) proxy fight for control of the firm.

If a project has a net present value equal to zero, then:
L. the present value of the cash inflows exceeds the initial cost of the project.
II. the project produces a rate of return that just equals the rate required to accept the project.

I11. the project is expected to produce only the minimally required cash inflows.
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IV. any delay in receiving therpriefebredreasisineibViessiofll cause the project to have a negative
net present value.
(A) MTand I only (B) Hand IV only (C) I, 1I,and IV only (D) II, IIL, and IV only

(E) L, 11, and IIT only

14. Which of the following represent potential gains from an acquisition?
L. the replacement of ineffeftip§ RFESGFSTERED
II. lower costs per unit prodttesded by Unregistered Version
II1. an increase in firm size so that diseconomies of scale are realized
IV. spreading of overhead costs
(A) MHand I only (B) IandIVonly (C) LI, and IVonly (D) L III, and IV only

(E) L 11, IIL, and IV

15. The pecking order states how financing should be raised. In order to avoid asymmetric
information problems and misinterpretation of whether management is sending a signal on
security overvaluation the firm's first rule is to:

(A) finance with internally generated funds.
(B) always issue debt then the market won't know when management thinks the security is

overvalued.
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(C) issue new equity first. Created by Unregistered Version

(D) issue debt first.

(E) None of these.
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